20172 20 & =L SE 3

09 i 0

200 Al2l=+=¢
210 o HAM A=
212 B2 ¢

Al A

Z2-2-8-5 Off &4 & E Ol At Hns2

E5 Al 16,797,593 15,134,347 1,663,246

200 M2l +=¢ 140,000 180,000 240,000

210 & HAN 2= 140,000 180,000 40,000

212 AHBE ¢ 30,000 30,000 0

212-08 JIEtAE ZE 30,000 30,000 0

SIS MFEL > 30,000 30,000 0
O2xXa& AIEE =¥ 10,000
OI=FE2adMelEY AEZ =¥ 20,000

215 a3+ 100,000 140,000 40,000

215-01 d=uw=2s=+8 100,000 140,000 240,000

<SIF=TMHEA > 100,000 140,000 A 40,000
OxZld d+u2s =Y 100,000

216 Ol Xt=¢ 10,000 10,000 0

216-01 33030l XK= 10,000 10,000 0

<EZF=TMEAD > 10,000 10,000 0
O30z 0l Ar==¢ 10,000

500 EX= 12,657,593 10,382,608 2,274,985

510 = DEX3S 11,940,043 10, 128,108 1,811,935

511 =108x38 11,940,043 10, 128, 108 1,811,935

511-01 = 1E2X3 8,440,000 6,737,000 1,703,000

I+ MEA > 8,440,000 6,737,000 1,703,000
O8& sHENSol=% EBIAE 2,192,000
Os8 SHENSo=Z HEAMS 165,000
O2AM 2HE2SSol+=x HEAMS 794,000
O3 SHENSot== FBIAE 663,000
OAtel S3ot+=22 HHIAL 500,000
Ous S3ot=HlAd SEAMS 1,682,000
Oodt=2t &l BTLAIY WX 2,454,000

511-03 J1= 3,500,043 3,391,108 108,935

<A MFEA > 3,500,043 3,391,108 108,935
Os¥ SHENSSt=Z ZHIAE 217,560
O2AM HR2E3dot=E HEAEY 204,170
Odst B3at=HelAld SEAY 1,009,200
Odt==2tHZHl BTLAIY 2 UX& 684,000
OZII=ANE 29 1,385,113




09 i 0

500 Ex=
520 Al - SHIE X
521 Al - EHIEX

Z2-2-8-5 Off &4 & E Ol At Hns2
520 Al - SHIEXZ=S 717,550 254,500 463,050
521 Al - EHIEZS S 717,550 254,500 463,050
521-01 Al - EHIEXS S 717,550 254,500 463,050
<EIF=TMEAD > 717,550 254,500 463,050
O8& 2123 Sot=x 2EAMS 281,830
Os8 SHENSot=% EHIAE 43,510
OAM 22 S Sot=THE A 40,840
O3 SHENSot== EHIAES 85,240
OAtel SZot=22 HHIAL 64,290
Oud S3ot=HMelAd SEAS 201,840
700 EX =L SHUENH 4,000,000 4,571,739 Ab571,739
710 28+ S 400,000 400,000 0
711 4= 400,000 400,000 0
711-01 =MAL 02 400,000 400,000 0
<SIF=TMEA > 400,000 400,000 0
Oz=MALAH= 400,000
720 LH S H ch 3,600,000 4,171,739 Ab571,739
721 HY 3 3,600,000 4,171,739 A571,739
721-03 JIEtSI H A L = 3,600,000 4,171,739 Ab571,739
<A MFEA > 3,600,000 4,171,739 Ab571,739
OLLt3A dY= 3,600,000




==
N & o & AF & H Al A
20178 S0& =ENESESH &XH
SH: BHESEAYA
M ot=2 HEXC
Sl SEMLA (FEHESEEN) (S &2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
BT AL A 16,797,593 15,134,347 1,663,246
= 8,440,000
J| 3,500,043
= 717,550
s 4,140,000
otx=2 H&E X 16,797,593 15,128,781 1,668,812
= 8,440,000
J| 3,500,043
< 717,550
s 4,140,000
SENAAML (EIMLASESIAH) 16,797,593 15,128,781 1,668,812
= 8,440,000
J| 3,500,043
< 717,550
s 4,140,000
BZIIZAE Ba=22 60,000 120,000 A 60,000
401 AIEHI L 2 CHYI 60,000 120,000 260,000
01 A& HI 60,000 120,000 A60,000
OEIIZAE THoHCHEl 2152 =Hl 60,000
gFIN=AE 23 3,117,085 3,291,530 A 174,445
J| 1,385,113
s 1,731,972
201 £B-2dH| 545,220 469, 154 76,066
01 At 22l 3,620 3,554 66
Ozeclthd SuEi|ds &8 ¢ 700
O=&IAN =25 2,920
02 =24l 541,600 465,600 76,000
Ost=&5t=S 8 3l8l (dt=%3l8l) 1,600
OUIBIBot=XelAdE 2823 150,000
OUMZEHEAE 2323 82,000
ontsst=xdelANd(21a) 3223 178,000
OINEE2=ESHUANE 232= 130,000
202 Oddl 3,210 2,160 1,050
01 = LH 4 bl 3,210 2,160 1,050
SEBR YR E 3,210
206 M= Hl 120,365 0 120,365
01 =8l 120,365 0 120,365
OEIZANE SEAS 0K 120,365
307 gl2tol & 2,188,290 2,770,781 A 582,491
J| 1,385,113
s 803,177
05 BIZHRIE 3 2,188,290 2,770,781 A 582,491
Odt=xeld 2949 1,272,750




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 793,826
s 478,924
OkzX™elzd 29 129,850
J| 96,126
s 33,724
ON=E==2xdedE 2¢ 318,140
J| 246,662
s 71,478
Oottsdt+=& 24 467,550
J| 248,499
s 219,051
401 AIEHI L 2 CHYI 260,000 38,875 221,125
01 A& HI 260,000 38,875 221,125
OAMel 83at=H™elAld A A 240,000
OFQHAIL (HUAK) B3 A 20,000
OtSotsT DI AL (22 4=2) 110,220 131,992 N21,772
201 L4l 36,000 35,000 1,000
02 =224l 36,000 35,000 1,000
O32=H OtE8ct==(3MA) 2223 36,000
307 21201 A 74,220 96,992 N22,772
05 RIZt2IEt = 74,220 96,992 N22,772
O32=H Ot2ct==(3Ma) 8<% 74,220
ol gl gl 1,023,466 11,440 1,012,026
801 Gl dl bl 1,023,466 11,440 1,012,026
01 BHoil bl bl 1,023,466 11,440 1,012,026
oolglsl 2 & 1,023,466,000& 1,023,466
ot=2tH & H| BTLAIY LA A 72,342 4,243,819 N4 7,477
201 24l 40,270 33,200 7,070
01 At 2t 2l 21,120 19,200 1,920
Odt=2tHZHl BILEUSIEI =2
220,000& = 6Y « 43 5,280
OBTLS 243 BIDSEAA 242
330,000& » 1204 = 43| 15,840
02 =224l 19,150 14,000 5,150
OBTLADI2R=Z & S4HRs, ddt=Ee3 19,150
206 = Hl 572 519 53
01 MHZ 4l 572 519 53
OBTLR g+ =2 I AME M4
11,900 » 12002 = 43] 572
403 MtXISHHE X201 E 31,500 30, 100 1,400
02 SO 2SHHSHAHE X HE AL B 31,500 30,100 1,400




AR == RPN =
A

I ot HEXel

SRl AEHAMS(SBNLSEEIH) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QU&= ot=2HEH LUHE XA (BTL)
o 08t 31,500
S AnEE3o=k AL 2,473,830 0 2,473,830
= 2,192,000
< 281,830
401 Al HI K 201 I 2,473,830 0 2,473,830
= 2,192,000
< 281,830
01 A& HI 2,357,830 0 2,357,830
OZE 2123 3ot== HEAMY 2,357,830
= 2,089,200
< 268,630
02 2teldl 115,000 0 115,000
O A3 30o=k AEAY 115,000
= 101,900
S 13,100
03 AlE 2 THHI 1,000 0 1,000
OZE 223 3ot== HEAMZ 1,000
= 900
< 100
S8 sHEMSot=S EHIALZ 416,070 0 416,070
= 155,000
J| 217,560
< 43,510
401 Al HIZ 201 8] 416,070 0 416,070
= 155,000
J| 217,560
< 43,510
01 A& HI 382,300 0 382,300
Os% SOHE0tSol== FBIAE
238 382,300,000& 382,300
= 142,400
J| 199,900
< 40,000
02 2teltl 32,200 0 32,200
Os% sOHE0tSol== FHIAS
Z2 & 32,200,000& 32,200
= 12,000
J| 16,800
< 3,400
03 Al =2 THHI 1,570 0 1,570
O3 SHE0tSot== FHIAS
23 1,570,000& 1,570
= 600
J| 860
< 110
AMN sSHEOISH=ZFZHI ALY 1,039,010 3,403,000 A 2,363,990




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 794,000
| 204,170
= 40,840
401 Al&HI & 28I 1,039,010 3,403,000 A 2,363,990
= 794,000
| 204,170
< 40,840
01 A& HI 935,500 3,062,000 A2,126,500
AAMN AREBIBo=E HAEAY
Z & 935,500,000& 935,500
= 714,900
| 183,830
< 36,770
02 Zeltl 100,760 336,000 A 235,240
AN AREBZot=E AEAY
Z & 100,760,000 100,760
= 77,000
| 19,800
< 3,960
03 AIE 2 0H bl 2,750 5,000 A2,250
OLAt A2 330tk AEAEY
23 2,750,000 2,750
= 2,100
| 540
< 110
o sHE0Sot+=E FUIAY 748,240 428,000 320,240
= 663,000
< 85,240
401 Al Bl 28I 748,240 428,000 320,240
= 663,000
= 85,240
01 A& HI 671,340 384,000 287,340
OFet ARRIZ30ot+=E HUIAY
238 671,340,000 671,340
= 594,850
= 76,490
02 Zeltl 69,920 40,000 29,920
OFet ARRIE30ot=E HUIAY
Z & 69,920,000& 69,920
= 61,960
< 7,960
03 AIE 2 0H bl 6,980 4,000 2,980
OFet ARRIE30ot+=E HUIAEY
23 6,980,000& 6,980
= 6,190
< 790
Azl 23022 FH ALY 564,290 0 564,290
= 500,000




AR == RPN =
A

I ot HEXel

Sl 2EANHAIG (=EMAHAEL S AH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 64,290
401 AlEHIZL £ 0HY| 564,290 0 564,290
= 500,000
= 64,290
01 Al&EH| 520,900 0 520,900
OAlel 2306t=22 HHIAIE
2 & 520,900,000 520,900
= 461,500
& 59,400
02 22|l 39,500 0 39,500
OAte| s3ots=22 FHAIY
2 A 39,500,000 39,500
= 35,000
& 4,500
03 AlE 21| 3,890 0 3,890
OAte| s3ots=22 HH ALY
33 3,890,000 3,890
= 3,500
= 390
ot&=2ZtH A H| BTLAFY 2UCHXIR (=2H]) 4,180,000 0 4,180,000
= 2,454,000
J| 684,000
= 1,042,000
402 SI2FXHE20| & 4,180,000 0 4,180,000
= 2,454,000
J| 684,000
= 1,042,000
02 BIZtXIEANYEX(0OIETHH) 4,180,000 0 4,180,000
OdlE=E2HAEHl BTLAIY LUK 4,180,000
= 2,454,000
J| 684,000
= 1,042,000
A 228 HelAE S ALY 2,893,040 1,100,000 1,793,040
= 1,682,000
J| 1,009,200
o=} 201,840
401 Al HI L 2 0HHI 2,893,040 1,100,000 1,793,040
= 1,682,000
J| 1,009,200
& 201,840
01 Al& H| 2,599,460 1,100,000 1,499,460
OlAt ZZ26IE=HElAIE SEANY
2 A& 2,599,460,000< 2,599,460
= 1,511,300
J| 906,800
= 181,360
02 2teld| 289,280 0 289,280




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OWd B3ot=HelAld SEAH
Z & 289,280,000& 289,280
= 168,200
J| 100,900
= 20,180
03 A& 2 THHI 4,300 4,300
OWd B3ot+=HelAld SEAY
2 & 4,300,000& 4,300
= 2,500
J| 1,500
< 300
A== SsAE 2F 2 100,000 100,000
201 ¢er24l 10,600 10,600
01 At 22l 10,600 10,600
Oti==Xl AXAs+=2=FFJ| F=3AM 10,600
401 Al HIZ 2018 89,400 89,400
01 A& HI 89,400 89,400
% 2 SSANE A2 89,400






